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6004
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What shape is this?




 (
6
)Hexagon
	


Add together: 45, 23, 15, 56 and 31

170

	


What is the product of 43 and 20?

860
	


Find the missing number:

 (
8
) (
7
) (
9
)41+34+16+67+___=245

87
	


What is the difference between 2491 and 5336?

2845

	

What is the perimeter of this shape?



                     6cm        30cm
	

 (
11
) (
1
0
) (
12
)A shop sells bottles of coke in packs of 10. A pack costs £6.40. How much does one bottle cost?

64p
	

Find the area of this rectangle:

7cm

                      9cm            63cm

	

Estimate the width of the netball court.

Approx 15m
	

What is 356 more than 4765?

5121
	

A magazine costs £1.76. I have 84p. How much more money do I need?

92p or £0.92

	

I gave away half of my sweets to my friend this weekend. I started with 354 sweets, how many do I have left?
177
	 (
14
) (
13
) (
15
)

I am taking 124 children and 13 adults on a school trip. A coach holds 52 people. How many coaches do I need?

3
	

There were 16 people in running club in term 1. In term 4 there were four times as many. How many people came to running club in term 4?   64 people



